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doyanldlummaeasuiludayanasgiuain TPC-H Benchmark [25] &9

WudniaSsudisulszanimwmalszananamssauaundudaulussuuaiuayuns

anaula (Decision Support) #lA9a314 A4l

LI

LINEITEM (L_)

ORDERS (0_)

L

PART (P_) PARTSUPP (PS_)
PARTKEY "PARTKEY
NAME *SUPPKEY
MFGR AVAILQTY

* |[BRAND SUPPLYCOST
* |TYPE COMMENT
* |SIZE
CONTAINER
CUSTOMER (C_)
RETAILPRICE
CUSTKEY
COMMENT
NAME
ADDRESS
®INATIONKEY
SUPPLIER (S_)
PHONE
SUPPKEY L
ACCTBAL
NAME
MKTSEGMENT
ADDRESS
COMMENT
NATIONKEY |=
PHONE
ACCTBAL NATION (N_)
COMMENT _INATIONKEY
NAME
REGIONKEY
COMMENT

ORDERKEY SRDERKEY
PARTKEY CUSTKEY
SUPPKEY ORDERSTATUS
LINENLUMBER TOTALPRICE
QUANTITY ORDERDATE
EXTENDEDPRICE ODER-PRIORITY
DISCOUNT CLERK

TAX SHIP-FRIORITY
RETURNFLAG COMMENT
LINESTATUS

SHIPDATE

COMMITDATE

RECEIPTDATE

SHIPINSTRUCT

SHIPMODE

COMMENT

REGION (R_)

REGIONKEY

NAME

COMMENT
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v

FayailFlumanaaasil 3 5o Ao
Foyayafl 1 wovtng BRAND uu PART Table

i1 1,000,000 wan MdeuadaAY 25 (C =25)
ayoyafl 2 wan3iag SIZE Uy PART Table

§1 1,000,000 won A$euadaAY 50 (C =50)
ayaafl 3 Wov3{nd TYPE uu PART Table

i1 1,000,000 unn ASeusdRWNAY 150 (C =150)

o o ' aa oo & Y v aa Y o o v

Susuudasuansindndanmnadnasidount  azdasalinaesendaya
MNAURUAD LU

1) @an@mzianstidnazihangsraasiilealg@ms

awx -F\| ‘{print $number}’ input_file > output_file

PR

Tagh | P2  8nasenldPuLaasm2aIuansting, number Ad  WaNSTIANABIMS,
. oA 2| 3 PP aa  od v LA A Iy V&S v
input_file A FalWdmsnniuenitndndeims waz output_file Aa Falwdnldinudaya
299uaN3UIANIEBN

DENIEY  awx -F\| ‘{print $2}° part.tbl > attr_nation.txt Wuns

@anuanstndy 2 2 part.tbl AUy attr_nation.txt

2) wasugumzasmanitadlilfuinnuduiidaiosiy Sueauden 0
Fatiy ehasuaniindiin/deusuud #e 0,1,2,..,C -1 Tasmsad file.awk Fudauiy
gasmdsdmiudeualulwdnilauduiulludnludnil
dhaghagamdaly file.awk

/THAL/ {print 0} (Wasufmn THAI dlu 0)
/CHINESE/ {print 1) (wasuf CHINESE flu 1)
/JAPANESE/ {print 2} (wasuAn JAPANESE lu 2)

nnuuihligaddlu file.awk o Togldda
awk -f file.awk input_file > output_file

Tagd file.awk @8 lWdgadd, inpu_file Ap Falwdnldinudeyavesuanitdniden,

. I 2 sdg ¥ & v aa oo N =~ < ° & A
output_file @9 HalWanldnudayazaanitrdndannimsuasuguiludinudum

1 d' v v
ADLUBDNNULLDT
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2. M3daulisunsniianaaasdauaNuUUAITNINHUUAZTT T WU
uiiumsideulusunsuareaindamund (C Compiler) laadimsmuue

mifieny, aauds, Heddu wazlwdnaanasaaluil

O MIM¥BuUAAI (define)

1 v

CADINALLITY 50 Wumsmvuamlinuamsouada luniluhnu 50
NUM_RECORD 1000000 (Jumsimuadinuumdaya luiiivihiu 1000000

O auus (variable)

value TawiuRumigasmssaunmn (0 < v < C-1)

vector use W wmiuifiumadursdauslnnmasasimsshusniiladiiunmsnssng
bitsvector BawiuRuemaasdaundnnaasisldnnmneei

ansvector TFdwmsuiiuemzastioundnneasuasnsnnmsiiiunmsassne  nauh

= d o
L?luuaﬂuIV\Iammawaqmiaaumu

O #lafdu (function)

QuerySimple(value) (Hular ”uﬁ@hLﬁum'ﬁaaumuuué’wﬂﬁmLmﬂuuuﬁugm
QuerylInterval(value) Hhursdsuiidriiumsaauanuudaiiiaunduuuga
QueryScatter(value) Fuiassufisniiumsgaumuuusaitausduuunszang
QueryEncoded(value) Hhudsdsufiduiiumsasuanvusaiiiauaduuughswe
QueryDual(value) Lﬂuﬁqﬁﬁu‘ﬁﬁwLﬁumsaaumuuuﬁwﬁﬁmLmﬂuuwjﬁ’u
WordPerVector (value) Fhudsdsufiduiumsmsnny  word  2a9emnem 1

TounUnneas  Faluniiisld 1 word FewinAu 32
(WNAVLINNVBY integer TuMUUaMENFN 1Y)

O T8 (file)

. < e & v aa &
simple.dat Wulwanipuaztideunduuuiugi
interval.dat Wulwanfuestideunduuuri
scatter.dat Wulwdnihuesiidaunluuunssas

< d’d‘ < U AAa v %
encoded.dat Wulwanihuesiideunduuuinsve

I /Al & v aa Y
dual.dat WulWannuaziiiounduuugnu

| o

ans_simple.dat WulwWdniudeasvzasdmmuuuasidaunluuuiugiu
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. Id r==~] o o LYY= -N ]
ans_interval.dat WulWdnihumeavzasmanuuasidaunUuuus
I o"d‘ < o o U A
ans_scatter.dat Wulwanhumeavuasmonuuasiideundiuunssas
< s & o o v oA vy W
ans_encoded.dat Wulwanfumeavuasmornuusstidoundiuuingvg
< /s & o o v A Y
ans_dual.dat Wulwan UM BUZBIA NNUUATHTAUNULUUANY

dvsvuaaumsmanurasllsunsuiie 1 lumsaauaniieeaa LUl

2.1 UMBUITNIMNIUKBANYDINITFIUNNUUATHTAUNUNG 5 Uy

START e

Y start = clock() start = clock()
/ Read value /{{j
Y Y
Cuerylnterval{value) QueryEncoded(value)

D<=value=CARDINALITY Nop| felueincormect L4 L |

end = clock() and = clack()
Yeas Y Y

* time = end-start time = end-start

stari = clock{) ¢ ¢

Frint runtime

L Frint runtime

QuerySimple(value)

¥ start = clock() start = clock()

end = clack()

Y Y

QueryScatter{valus) QueryDual{valus)

Y Y

end = clock() end = clock()
Print runtime L] 4
time = end-start time = end-start

Y

Print runtime: Print runtime:




2.2 TUADIUIBNMITFaUINUUATHT AN LUUNUg I

CuarySimplelvalue)

Y

wipv = WordPerVector(MUM_RECORD)

|

vector_use = value

¥

fdr = open * simpla dat”

Y

fdw = open "ans_simple.dat”

Y

offset = vector_use * wpv " sizecflint)
{Find position of vector_use)

Y

Iseek(fdr offset SEEK_SET)
(Move fdr 1o first bit of vector_use)

Yas

'

read({fdr bitsvectori] sizecf{int)
[Read vecter_use 32 bits per time)

Y

writelfdw Abitsvactor(i] sizeof(int))
(Write 32 bits per time 1o ans_simple_dat)

| ++

End
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2.3 FUABUIDNTIIUNNUUATUTA MU UV

Queryinterval{value)

'

wpy = WordPerVector(NUM_RECORD)

¥

num_vector = ceillCARDIMALLITY/2)

i

m = (CARDIMALLITY/2) - 1

value=1{ and

81

=D Y s —- vactar_usa[0]=0 - caondition = "1
Mo
value=1 and Y chor [0}=0 - dition = 2'
CARDIMNALLTY =2 5 veCiar_use condific
Mo
value=1 and = = i
CARDINALLTY=3 Y @5 —-] vactar_usa[0]=1 - condition =3
Mo
vector usefl] = v = B
Y es—-] vector nse[1] = v+1 - condition =4
Mo
value=m and vecior_use(0] =0 & o g
m=0 Y es—i vector_use[1] = v - condition =5
Mo
0= m =< vand ¥ vector_use[l] = v-m i condition = '6'

v < CARDINALLITY-1

vactor_use[1] = v-m-1

Mo (VECARDINALLITY-1)

v

vector_usefl] =0

condition = 7'

vector_use[1] = cail{CARDINALITY 21

Y

b A



fdr = open * interval dat”

y

fdw = open “ans_interval dat”

Y

offset = vectro_usea[0] * wpv * sizeaf(int)
(Find position of first vector_use)

y

kseek(fdr,offset, SEEK_SET)
{Move: fdr to first bit of first vector_use)

82

Y
i=0
Y
; read (fdr &bitsvector[D][i] sizeof(inty .
ENEY Yasam (Read 1% vecter_use 32 bits per time) " Loz
Mo
- offset = vectro_use[1] * wpv * sizeof(int)
SrRiGH 3 Yos—m (Find position of first vector_use)
No '
keeek(fdr.offset, SEEK_SET)
{Maowve fdr to first bit of first vector_use)
Y
i=0
-t i+
! $
i<wpv Yes readifdr &bitsvector[1][i] sizeaf(int)

(Read 1% vecter_use 32 bits per time)




ansvectori] = bitsvector[0][i}] —

ansvectorfl] = ~bitsvector[0][i] —

ansvectori] = bitsvector[0][] —

83

ansvector[ij=bitsvectar[0][l] and ~bitsvectar[1][i]

write(fdw, &ansvector],sizeof{int) )
(Write 32 bits per ime to ans_interval dat)

¥ s —-

ansveciorfij=hitsvector[D][i] and bitsvector]1][i]

ansvector[ij=bitsvector[0}[i] and ~bitsvector1][

Mo
Vsl
Mo

¥

ansvector[il=~{bitsvector(0][f] or bitsvector[1][i]}




2.4 UMD MTFAUNNUUATHUA NI wUUNTEAE

CueryScatter(value)

Y

wpv = WordPer\ector{NUM_RECORD)

A J

num_vector = ceil{2*sqri{CARDINALLITY))

Y

m = cail{sqrt{CARDINALLITY)) +1

valuaty(m-1)=0

Yes

L

vector_use[Dl=vf{im-1)

'

vecter_use[1]=(wim-1)+1

l

vector_use[0Fw/{m-1j+1

!

vestor_use[1]=(vi(m-1)Fnumyvector-m+1

fdr = open " scatter.dat”

.

fdw = open “ans_scatter.dat”

'

offset = vector_use[0] * wpv * sizeafiint)
(Find pasition of vector_usa)

.

|seek(fdr offset, SEEK_SET)
{Mowve fdr to first bit of vector_use)

Yas

L

read(fdr, &bitsvectorf0][i] sizecf{int)
[Read 1°' vecter_use 32 bits per time}

.

1++

84

offset = vector_use[1] * wpy * sizeof(int)
{Find position of vector_use)

'

Iseekifdr offset SEEK_SET)
{Move fdr to 2™ bit of vector_use)

i

Yas
¥
read({fdr &bitsvector 1][i] sizeof(int}
(Read 2™ vecter use 32 bits per time)

'

¥
i
a

Yes

¥

ansvectorfi=bitsvector[0][] and bitsvector 1][1]

Y

write(fdw. &ansvector(i], sizeof(int))
(Write 32 bits per time to ans_scatter_ dat)




2.5 AUABUIDNTIIUNNUUATHTAUNUUUULNSTHE

CQueryEncodad(value)

3

wpv = WordPerVactor(NUM_RECORD)

num_vector = ceil(log2{CARDINALLITY ))

l

fir1 = open * encoded. dat”

3

85

((mappatter>>{num_vector-}-1))&1)==1

-

fdr2 = open " maptbl.dat”

M

fdw = open “ans_encoded.dat”

l

M

Q

offset = value * sizeofiint)
({Find position of mapping pattem in maptbl.dat)

I

hitsvector(i] = OxFFFFFFFF
(Set all bits of 1%' bitsvector
to 1 if value in maptbl=1)

Yes

v

Iseek(fdr2 offsel, SEEK_SET)
{Move fdr2 to mapping pattern in maptbl. dat)

l

(Set all bits of 1* bitsvector

bitsvector(i] = 0

to 1 if value in maptbl=1)

l

i+

l

readifdr2 &mappatterm.sizeofiint)
(Read mapping pattern in maptbl.dat)

Yes

¥

ansvectori] = OxFFFFFFFF
(Set all bits of ans to 1)

i+ —

wector_use[1] =]
(2 vector_use is bitsvector j)

l

offset = vector_use[1] * wpv * sizeof(int)
{Find position of 2" vector_use )

Yas

¥

read{fdr &bitsvector]1][i]. sizefiint}
(Read 2 vecler_use 32 bits per time
from encaded. dat)

)

ansvectorij=ansvector{0][i] and
[~{bitsvector[0][f] xor bitswector[1][i])}

e+




Yas

'

write{fdw Sansvector(i], sizecf(int)}
(Write 32 bits per time to ans_encoded dat)

|

i+

86



2.6 FunauIansdaunauuaniiausluuua iy

QuenyDual{valug)

Y

wpv = WordPervVector(MUM_RECORD)

Y

PILETY_ W

eclor =

cail{sgri{Z* CARDIMALLITY-= 0. 25)-01.5)

Y

r = ceilisgrif2™

alue+2 25)-0.5)

Y

5 = value-r*r-1)"0.5
Y

fdr = open * dual dat”
Y

fdw = open “ans_duak.dat”

Y

offset = r ™ wpv * sizeofiint)
{Find position of vector r)

Y

lseek{fdr,offset, SEEK_SET)
[Mowe fdr to first bit of vectorr)

Yias

L

read{fdr, &bitsvector[0][i] sizeof(int)
(Read vecter r 32 bits per tima)

i+t

offsel = s ™ wpv ™ sizecf(int)
{Find position of vector r)

Y

Iseek|idr offset, SEEK_SET)
(Mave fdr to first bit of vector 5)

Yes

Y

MNo—

read (fdr Abitsvector] 1][i] sizect{int)
(Read vecter s 32 bits per time)

Yes

L]

arsvectori]=bitsvector0][i] and bitsvector[1][i]

Y

write{fdw, Gansvectori] sizeof(int))
(Write 32 bits per fime to ans_dual.dat)

End





